; To)
[e0]
=
co R7
f— D4 200 R6
100n 82
N
BZX84C15L PH_BC556A R11
Q2 i A7
V3
RS BC640/SIE
250 v o1
r1a <t D3 D1 D2
5
ak7
C11N4148 | 1N4148  1N4148
68p
0”3 i R5 W% BSS84 BSS84 %
[
ok R18
M2 M1
A 100 M F 100 R1 F u1
| iy
R9 33 \\/ IRL540NS
R1S 10k </ vi RS3
100 N
T 1o 430
R16 | | out L2 R12
12k
V4
N U2
(D R2 (}:
* i}
33 \v IRL540NS
R4 Cé
N R19 .tran 0 11m 1m 50n 430 100n
100Kk
R17 .four 20kHz 20 v(out)
four 20kHz 20 i(R11)
2.2meg R10
;ac dec 10 10 1G
PULSE(0 22 100u 10n 10n 10u 20u) a ~
& | >
NA
™ >

+15
-15

vs V6

15 15

I(R11)=129.7mA
Fourier component
DC component:-0.0

1 2.000e+0¢
3 6.000e+0¢
5 1.000e+0¢
7 1.400e+0"
9 1.800e+0¢
11 2.200e+0
13 2.600e+0
15 3.000e+0
17 3.400e+0
19 3.800e+0

Total Harmonic Dis

Fourier component
DC component:-0.0

1 2.000e+0¢
3 6.000e+0¢
5 1.000e+0¢
7 1.400e+0"
9 1.800e+0¢
11 2.200e+0
13 2.600e+0
15 3.000e+0
17 3.400e+0
19 3.800e+0

Total Harmonic Dis




